> 4x% + 2xy 9] 147} obd 7122

® x(2x+y) @ 2 ® x
@y ® 2x+y

4x2 + 2xy = 2x (2x + )
Q=1 1, 2, x, 2x+y, 2x,2(2x+y), x(2x+y), 2x(2x + )




@D x2-6x+9 @ 4x% 1 16x - 16
@ ¥+ 12x + 36

@2x2 +4xy+ 4y2
® 2+ duy + 4y

@20 +dxy + 47 = 27+ doy + 47 + 7

= (x_|_2y)2 _|_x2




@ x2-12x+[ |
® 9+ +1
® x2-[ Jx+100

@ 4x2-] x+25

@x2 + 18x—|—D

B
122
o[0=(3) =3
@[ J=2x2x5=20
®[ J]=2x3x1=6

@D=(12—8)2=81
®[ ]=2x10=20




© x?-5x-6=(x—2)(x-3)
@ 12x - 4x* = 4x(x - 3)
@) - 145+ 49 = (x -7

@ 3x2 +5x-2=(x-2)(3x+ 1)
@) 1a? - 90? = (2a- 3b)(2a + 3b)

@ (x-6)(x+1)
@ -4x(x - 3)
@ (x+2)(3x-1)




5.

(x+y)(x +y+2) - 3& QIR 5197

O (x+y+1)(x+y-3) @ (x+y-1(x+y-3)
@(x+y—1)(x+y+3) @ (x+y+1)(x+y+3)

® (x+y-D(x+y-2)

~&B

x+y=Azel EOH,

AA+2)-3=A2+24-3
=(A-1)(A+3)
=(x+y-1)(x+y—+3)




6. x2-94xy-3y E UFEsHA?

@ (x+3)(x+3+y) @ (x+3)(x+3-y)
® (x-3)(x-3-1) @) (x-3)(x+3+)
® (x+3)(x=-3+y)

‘ (x+3)(x=3)+y(x-3)=(x-3)(x+3+y)




®x+1=0 @ x®-x+3=x*
@2x2—6:—x @)3x2-1=3(x-1)
® ¥ +2x+1

B

@ x ol gt AApg Aol
@ RS —x 43 — 0002 x o Tt AxPEAA o]},
® x of T ol ApgA Aol

@ x of T ol APFA Aol

® x o] T o] x}Alo]ct,




g % oA A (x-2)(x +5) = 0 o] HE FohH?

@ x=-2EE=x=5

@X—QELX— -5

(x=2)(x+5)=0,
x—2=0%=

x+5=0,
wabA] x = 2 B x = -5 o[t}




FEAA x2 -2x-3=0,3x2-7x-6
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®1 @)3 G 4

@0

-2x-3=0

0

(x=3)(x+1)
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10.

O|ZPL A x2 4+ 8x+ 4 +4m = 0 ©] T 27
1=H?

@1 @ 2 (@)3 @ 4

B

x%+8x+4+4m =0 °] = 7| ="
AAFA 0] FE|= Y E|ofof gt

24+ 8x+16=(x+4)> 0|22 4+4m=16
dm = 12

om=3




